Kuta Software - Infinite Algebra 2

Function Operations

Perform the indicated operation.

1) g(n)=n2+4+2n
h(n)=-3n+2
Find (g - #)(1)

3) h(x)=3x+3
g(x) =—4x+1
Find (1 + £)(10)

5) g(x) =2x-5
h(x)=4x+5
Find g(3) — h(3)

7 gt)=r*+3
h(t)=4t-3
Find (g - h)(-1)

9) g(x) =—x>—1-2x
flx)=x+5
Find (g - f)(x)

11) gla)=-3a-3
f(a) =a*+5
Find (g - f)(a)

13) fl(x)=2x" - 5x*
g(x) =2x-1
Find (f - g)(x)

Name

Date

2) flx)=4x-3
g(x) =x+2x
Find (f — g)(4)

4) g(a)=3a+2
f(a):2a—4

Find (?)(3)

6) g(a) =2a-1
h(a) =3a-3
Find (g - h)(—4)

8) g(n) =3n+2
f(n) =2n*+5
Find g(f(2))

10) f(x)=3x-1
glx)=x*—x

Find (i)(x)

8

12) ht)=2t+1
gt)=2t+2
Find (h — g)(¢)

14) h(n)=4n+5
g(n) =3n+4
Find (h — g)(n)

Period



15) gla)=-3a>-a 16) f(n)=2n

ha)=-2a -4 g(n) ? —n _)(4 |
. g Find (f ° g)n
Find (;)(a)
17) ha) = 3a 18) gln)=2n+3
g(a)z—a3—3 h(n)zn—l
Find ( h ) @ Find (g © 2)(n)
g
19) h(x)=x*-2 20) glr)=2t+5
glx)=4x+1 (== +5
Find (ho g)(x) Find (g + f)(z)
21) glx)=2x-2 22) gla)=2a+2
f(x):x2+3x h(a)=—2a—5
Find (go f)(-2 + x) Find (g © 1)(-4 + a)
23) g(x)=2x+3 24) g(r)=3t-1
fx)=3x*-3x fle)=32+1
Find —4g(—4x) + 4 f (~4x) Find (3g + 3 )(41)
25) glx)=x*+3 26) f(t)=1—4
h(x)=3x+2 gt)=r-3
Find (3¢ + 3h)(~x) Find (f - g)(-2—1)
27) glt) =1 - 3¢ 28) f(x)=2x+2
fl)=—1-4 gx)=-3x-1
Find g(-2¢) — f(-21) Find ( f )(_4x)
g
29) f(x)=-x—-4 30) g(n)=n*-5n
g(x) =2x* -2 h(n) =2n+1

Find f(-2x) - g(-2x) Find g(y—2)—h(y—-2)



Kuta Software - Infinite Algebra 2

Function Operations

Perform the indicated operation.

1) gln)=n*+4+2n

h(n)=-3n+2
Find (g - #)(1)
—7

3) h(x)=3x+3
g(x) =—4x+1
Find (1 + £)(10)

-6

5) g(x) =2x-5
h(x)=4x+5
Find g(3) — h(3)

-16

7 gt)=r*+3

h(t)=4t-3
Find (g - h)(-1)
-28

9) g(x) =—x>—1-2x

flx)=x+5
Find (g - f)(x)
—x>-3x-6

11) gla)=-3a-3
f(a) =a*+5
Find (g - f)(a)

—a*-3a-8
13) f(x)=2x>-5x*

g(x) =2x-1
Find (f - g)(x)

4x* —12x° + 512

Name

Date

2) flx)=4x-3
g(x) =x+2x
Find (f — g)(4)

-59

4) g(a)=3a+2
f(a):2a—4

Find (?)(3)
1

2
6) g(a) =2a-1
h(a) =3a-3
Find (g - h)(—4)

135

8) g(n) =3n+2
f(n) =2n*+5
Find g(f(2))

41

10) f(x)=3x-1
glx)=x*—x

Find (i)(x)

3x—1
x2 — X

12) ht)=2t+1
gt)=2t+2
Find (h — g)(¢)

-1

14) h(n)=4n+5
g(n) =3n+4
Find (h — g)(n)

n+1

Period



15) gla)=-3a’-a
ha) =—2a -4

Find (%)(a)

—-3a*-a
—2a-4

17) hla)=3a
gla)=—-a’-3

) h
Find (g)(a)
3a
a3 -3
19) h(x)=x -2
gx)=4x+1
Find (ho g)(x )

16x> +8x—1

21) glx)=2x-2
f(x) = x2 + 3x
Find (go £)(=2 + x)

2x* = 2x -6
23) g(x)=2x+3

f(x)=3x" = 3x
Find —4g(~4x) + 4 f(-4x)

192x> + 80x — 12

25) glx)=x’+3
h(x) =3x+2
Find (3¢ + 3h)(~x)

—3x3 —6x+13

27) g(t)=1" -3¢
fl)=—t-4
Find g(-2t) — f(-21)

81> —12¢* -2t + 4

29) flx)=—-x—4
g(x) = 2x2 -2
Find f(-2x) — g(-2x)

—8x*+2x-2

16) f(n)=2n
gln)=-n—4
Find (f o g)(n)

—2n—38

18) gln)=2n+3
h(n) =n-1
Find (g o h)(n)

2n+1

20) g(t) =2t+5
fle)=—r*+5
Find (g + f)(z)

2 + 21+ 10

22) gla)=2a+2
ha) =—-2a -5
Find (g o h)(—4 + a)

—4a+8

24) g(r)=3r-1
f6)=3 +1
Find (3g + 31 )(41)

1927 + 40t — 3

26) f(t)=1-4
gl)=r -3
Find (f - g)(=2 —1)

t* + 1217 + 48t + 831 + 66

28) f(x)=2x+2
glx) =-3x -1

Find (i)(—4x )
8
—8x+2
12x -1
30) gln)=n"-5n
h(n) =2n+1
Find g(y—2) - h(y - 2)




